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30t97631 tdnlqld A 4 ts t_uz, hunn 2500 l 6 40,0
22813000 lur2r]urmfurh qnphn trcu2 hurul 700 2 t ,4
39263200 lpuuhl{urUurrhh qnphn trcuz hurur 1400 I L,4
30192t14 fduhurp urqruqpur\urtr ritphtrurEEfiflTurilurp FCUZ hurur 4000 5 20,0
30197232 uFurqur qluF /fdrlpullqurlru t/ trcu2 hruu 100 2T 2,7
30192t21 qpltr trcu2 hunn 150 20 3,0
39263410 Ut1nhq /udpruty' trcuz hurur 200 5 1,0
30197234 PlPqultutrur{ /{n2tn tluqdn{ trcuz hurtn 1000 5 5,0
30199500uuqurFurpmrya phpphpntl treu2 hutn 250 10 2,5
30197233 ldlpurulurUur tf fo htn{ muz hurtn 100 t2 r,2
30197231 b*JL trcuz umr-{r 1000 6 6,0
37822100 Uururlnn treuz huur 150 10 1,5
30192740 pnrya ,A'4 mu2 hurtn 200 25 5,0
30192720 9buh2[r2 trcuz huru 250 t2 3,0
3071927r0Unulrtr& trcu2 hutn 350 10 3,5
30197323 9urplry/ 30-50 phppfr hruilurp/ trcu2 hurur 1200 4 4,8
30197320 9urplr2fr uruhrl trcuz hurtn 150 8 1,2
30199231oF-F trcuz hruur 60 20 1,2
30197330T-hht trcu2 hurn 3000 2 6,0
30199430t 2mritrhplr fdnr-rya trcu2 hurur 250 t2 3,0
44423600 tln$dhpurl frtr ]rLphur\qlmh durqunlhtr ,Feuz hurur 480 4 1,9
2245t200 .{,l1u1ur\rutrtrhp trcu2 hunn 6s0 60 39,0
30192L34 9p2urttruh trcuz huur 700 2 1,4
30237r40 hurfurllupq2|r.qhhU trcuz hurur 2800 3 8,4
302374I0 Zurilurlurpq2fr uur\trur2rup treuz hrutn 5000 3 15,0
39263310 Cpurgm3g uhqurtrlr trcuz hutn 900 3 2,7
30193600Opu gnrl glr uruhdrn qluruurr.turuurl h trcuz hunn 2400 2 4,8

, gt'I97122
lndqrurf ulpruunluruh qft hlprl trcuz hruur 350 6 2,1

30192160 Guplrluhhp trcuz htuu 300 13 3,9
39298200 t \uptrhpfr 2p2urtlulltrhp .FCUZ hunn 1300 l0 13,0
30141200hu2rluruurpp uhqutrlr treuz huru 5000 1 5,0
30t214s0 Imuruqururd.uurppunlnp.ilruuhp h qrupurqru. trcuz hurtn 5000 2 10,0

l\rurihtrp' 220,0
392243& Ury:ulirutr trcuz hurur 900 7 6,3
39298300Ouqlluriruh trcuz hurur 2300 6 13,8
39525100 Zurnur\ rlurpphlnt 2np treuz hurtn 600 25 15,0



39525800 On2nr- 2np trcuz hurur 300 30 9,0
30124130h hburnurturh t unlul hn 6Ow,8Ow, 10Ow trcuz hunn 150 20 3,0
33761000Uot*l1h llruhrulm riltZttg trcuz hrutn 550 t4 7,7
39831240Uruppn4 httl".h prrllrtrurtnfr huuftup muz hurur 2s00 4 10,0
39831245 thnpf h\nr-\ odrun muz hruur 430 10 4,3
33761100Zhqhhhhh rdnqla muz hrutn 150 68 rc,2
33761110Uhd,hnngfr\ trcuz hrutn 400 10 4,0
31s31300Strtnhunq pnftq trcuz hruur 2250 8 18,0
3122t280 bp\urprugilurh lup trcuz hurur 3600 2 7,2
3121 1 120 Uuluhnft$ uplpl trcuz hruur 450 2 0,9
31651100Uhllnrulrl druq rurlhtr treuz hruur 160 2 0,3
31684100 .{urnnurt hnhrhhn trcuz hruur 1100 I 1 , 1

31684200.[urp4ur\ urpururplrh trcuz hurur 700 2 1,4

31711100ttnpurn trcuz hrutn 200 L2 2,4
311700002nuurtrEh qrnburlr hnut hf trcu2 hurur 300 2 0,6
44116300I.rurffrtrurur 3,66- 1,83. 1 8 trcu2 hutn 30000 0,5 15,0

44117300 1q'[ trcuz hrurn 6000 I 6,0
14820000Uruurlrh 5 rfrV 100.100ur1/ muz hruur 5 I 5,0
44t9t700 Ghhurnurnruhruh qurhurqruh trtnrBhn trcuz 4nluil 1 13,5

31442000Urupur\ng trcuz hurur 100 & 4,0
31212000Ur] urnrlurur urtrqruuh> trcuz hrutn 1550 4 6,2

44511100ehph qnpEfrpbtp trcuz 4nurd I 20,0
44st1200 unng trcuz hruur 3000 I 3,0
44ttt4t0 l,hnh trcuz hnrur 2100 6 12,6

444t1100 Qplr bnpur\ trcuz hruur 3000 2 6,0
44s2tt90 Furhurl]r trcuz hurtn 1400 I 1,4

39221480 fu nqruhurh q mgrupruirfr trcuz hrutn 1050 I 1,0
39831270 Uulnthq trcuz hrutn 3000 I 3,0
445212209ruhht treuz hunn t70 10 ']..,7

19210000I{tnnn trcuz il 1500 2 3,0
39836000Udhr hurururbh trcuz hnrur 900 18 16,2

39837000Srulururlbl trcu2 hurtn 1700 5 8,5

39813000Uqururhurlmrl hlntphp qmqurpruh. Zunftup trcuz hurtn 1100 18 19,8

39831240 Uruppnq hlmphp trcuz hurur 900 l3 TI,7

18141000flhuhtrh &hntrns trcuz hurtn s00 10 5,0
398t24t0 Ourllhgtrffl ,Ihptrg trcuz hrutn 500 2 1,0
398312410tturll2ur trcuz hurtn 350 t2 4,2
392224330 Inrll ulluruunfurulu trcuz hurtn 500 2 1,0
39832000Uutruup trlrutlutm hhtntb trcuz hurur 500 2 1,0
3983t242 Lrl*Sph +oZh muz hurur 6 5 3,0
445ttr20 ilnqurplrurll FCUZ hruur 2000 1 2,0

Itrnrurlhtrn 290,0
39111140Upnn treuz hrurn 13s00 6 81,0

,3pft7rooh.hnrlhurnhthtn mu2 hurur 25000 I 25,0
37821230 unlphpu trcuz hurtn 10000 5 s0,0
39121520 Tlurhrunurtr trcuz hurtn 700Q0 5 350,0
39t41270 rrndn4 trcuz hutn 45000 I 45,0

39121300Uhn ruh,qnurutn ruh,ru4u.utl urh .FCUZ hunn 42750 4 171,0

391 381 90 trruq\urprrn qpruuhh3ur\ur3frh trcuz hurur 75000 I 75,0

39151 140 :Ipur4urpru\trhp treuz hurur r2000 I L2,0
391 1 1290 Upnn ru2ur\tpurur\rutr treuz hurur 6s00 28 182,0

991,0



7999t200 Snpbnqntrl trcuz rlFurd 328,0
39162110fl r-umrfhurllruh blmphp trcuz rlFrxli 140,0
3413000 .Lrunhr hph huLlurn trurluuruhur]urb rhurrur trcuz tu.il 120,0

ot'nrulnrlalmhhhF

6s310000hr ht tnnurhurbmrarurtr nuplunrrl trcuz {Furu 1010,0
64211000Irruqh burnurtmplmtr €Ur{q, trcuz lFruri 240,0
6+4110000Onuurrul Jrh burnurlmpl mtr trcuz rlpuil 50,0
642200@ htrurtntrhtn truulh bunrulnrBlmh trcuz rlFulil 72,0
92410000Furdrutrnp4ruqrmplurh brunrulntplnr-h trcuz rlFunt 80,0
65111000Qpunfunnru\ruprupnul trcuz rlpulrl 70,00
99000000 *lnrd 2hurtr4|ruurgnq bruluu /ur2]urutnurrlrupU trcuz {Furd 32930,0
45461000 Chtrpp 2frlrmplurtr ptrpruChq tnpnqnu^f trcuz rlpuril 40,0
50311240Tlururdhtnuhrutrq uupphplr rlhpurbnpnqrf. bun. treuz rlFulil 57,0
79131300h1 uurnpurqpmp.hunlruuuulqprftutr burnrulnrp. trcuz rlFuru 3,0
99600000Qbnu.f ghur\|ru.ur31 bruluu /hurp\rulfrtr qruFur/ trcuz 4Furu 26,0

Ctrnruilhtrn' 36667,0
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